o 0.8f © E 0.6
s £0.45 E
2 0.7F Y E N
3 F 3 0.4 0.52
= = =3 E o
£ 06 $0.35 4 3
< f ™~ E 0.40
< = < E
& o.5F & 0.3
0.4F 0.25 0.3
03f 02
E 015 3 0.2
0.2F g
E 0.1
ot E 0.1
E. et 0.05 3 L b
ol-w-' M FEETE FTERE FRTE I 1 T T T T T T T
= N 0120.250.3 0.35 0.4 0.45 0.5 0.55
g : ;{ |>HH| s Efficiency
1H cieqid H-Hm.

*¥150.20.250.30350.40450.50550.6
Efficiency vs. cut on dz(PV)

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO

—— DQM_V0001_R000000001__Global__mKkFitOLD-checkDet__RECO




	Contents
	Page 1


